
SHEET: 1/1

SET1

DUST COLLECTOR DC 65i PRO

ART. NUMBER: 45997 
MODEL: DUST COLLECTOR DC 65i PRO

POS. CODE DESCRIPTION QTY
1 A13340 UPPER DUST BAG 1

2 A09397 UPWIND 1

3 A09396 SCREW 8

4 A09548 GRIP 1

5 A09549 DOWNWIND 1

6 A09550 STEEL BAND CLAMP 2

7 47315 LOWER DUST BAG 1

8 A09551 AIR CAVITY CONNECTING 
PLATE1 1

9 A09552 SPRING WASHER 6

10 A09553 SCREW 20

11 A09554 LEFT LEG 1

12 A09555 SCREW M8X12 4

13 A09556 BRAKE CASTERS 2

14 A09557 NUT M8 4

15 A09558 BRACKET LEG BEAM 1

16 A09559 GROUND LINK 1

17 A09560 SCREW M6X12 6

18 A09561 CASTERS 2

19 A09562 NUT M10 4

POS. CODE DESCRIPTION QTY
20 A09563 BASE 1

21 A09564 NUT M6 6

22 A09565 RIGHT LEG 1

23 A09400 HOSE 1

24 A09567 CLAMP 2

SET1 
(25-29) 47313 SET ADAPTORS 1

30 A09568 SCREW ST4.2X12.7 4

31 A09569 ENTRANCE PROTECTION 
NET 1

32 A09570 SEALING STRIP 1

33 A09571 AIR CAVITY CONNECTING 
PLATE2 1

34 A09572 SCREW M6X16 1

35 A09573 WASHER 1

36 A09574 FAN WHEEL 1

37 A09575 SCREW M8X12 4

38 A09576 END CAP 4

39 A09577 MOTOR 1

40 A09578 DUST BAG STAND 1

4/08/2023


